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(1) HfAR5E B (BT : B )
6 H 7 A 8 H 9 H 10 A 11 A -
A 25,207 | 24,810 | 23,199
a3 (ET 23,533 | 21,615 | 22,456 | 23,277 | 22,636 25,604 | 139, 124
CIREige 107. 1% 114. 8% 103. 3%
.. 21,877 | 21,649 | 19,902
IR 21, 183 19,238 | 20,010 | 20,942 | 20,031 22,581 | 123,988
BtoBH3 | 4 103. 3% 112. 5% 99. 5%
B A
%
BT 107. 8% 107. 6% 106. 4%
1 3, 330 3, 161 3,296
LOHACO | g 2, 349 2,376 2, 446 2,334 2, 605 3,023 | 15,135
Al bk 141. 7% 133. 0% 134. 8%
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LOHACO | g M 2, 827 2, 635 2,943 3, 117 3,139 3, 048 17,710 | 32,845
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6 H 7 A 8 H 9 H 10 A 11 H =
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